


There are two boxes, Box A and
Box B. Box A contains 3 red and 6
black balls. Box B contains 5 red
and n black balls. One of the two
boxes is selected at random and a
ball is drawn at random. The ball
drawn is found to be red. If the
probability that this red ball comes

G —)M 0172‘( b‘u out from Box B is 1/3, then the

- S value of n is

A ¥ 3 o1t R 6 Preht AE | A B
ﬁsmaﬂvnMﬁiﬁla’rmﬁ
H TS & Aqrged ®U q A1 ol 8
3R TP g P Igfed W A AT

uﬁwmﬁzmsﬁﬁﬁﬁaﬁ

Wi dr 1/3 8, @ n &1 794
(a) 10 (b) |
(c) 20

) T &1 Freeh 18 AT A uE TS|



A can complete a pice of work in
25 days while B can complete the
same work in 30 days. They work
on alternate basis, starting with A.

0:{6 6K3 Both A and B follow this pattern
| So Sy for 5 days and then A leaves the
A0 5 X work. In how many days will B

Q.? finish the remaining work?
- A U$ $M I 25 &A1 # qRT X el
122 g 9efd B ST &M @ 30 oA § q®1




As part of his journey, a person
travels 120 km at 80 km/h, the
next 100 km at 40 km/h, and

comes back to the starting point at
75 km/h. The average speed of the

person throughout the journey
(approximately) is:

AT AT B ey & WU H, U ARh
120 f&A @1 I=r 80 fHHT /Her &
A |V BT 8, 3T 100 A &1 I
40 f&H /der & 7fd ¥ Pxar 2, 3R
75 &4t /der ot 71fd ¥ IS g ==
q9g AT B G IET D SR Afb
F1 g I (@) @

_AA163.46 km/h m

(b) 58.74 km/h
(c) 68.15 km/h
(d) 49.58 km/h



What is the value of (3x3 + S5x2%y +
12xy? + 7y3), whenx = -4 and y = -
1?

(3x3 + Sx2y + 12xy?2 + Ty3) DI HMH
T 8? O x =4 3R y=-1?

(a) -329 (b) -359

(c)-361 (gr-327 lﬂﬂ\/%

@

—( 192¢+8ty3+L ) ®



What will be the remainder when
(265)4081 + 9 is divided by 2667?

L

U9 (265)4081 + 9 Bl 266 ¥ fawifora
foar ST o INBA T BA?

8 (b) 6
(c) 1 (d) 9

t \)00\6\
Y™



S5 women and 9 girls earn a total of

Rs. 18,720 in 9 days, while 9

$W+qq -‘-"w 52— women and 16 girls earn a toal of
Rs. 52,080 in 14 days. How much

% W 'H“l 0‘3 will 12 women and 7 girls together

earn (in Rs) in 13 days?

SG =2W 5 Afeay 3R 9 wrsfddr 9 =i #
18,720 %. FHNI & | Safd 9 AR

=3 IR 16 FefHai 14 R § g famw

N 52,080 $UY HAI & | 12 AfdaAT 3R

S2—2p90 7 oAl feww 13 Rt # fa

(eud #) HHEA? s
Y 3\@ (a) 42510  (b) 41990 m
3o X | 3 (c) 42380 yx 42120 @



In the given figure, ZDBC =65° ,
ZBAC =35°and AB = BC, then the
measure of ZECD is equal to:

& TS Igpfd H ZDBC=65
/BAC=35° 3R AB = BC © dI
/ECD &T |19 71 27

(a) 65° (b) 50°
(¢) 45° (d) 55°



The graphs of the linear equations
4x - 2y = 10 and 4x + ky = 2
intersect at a point (a, 4). The
value of k is equal to:

NG GHIANT 4x - 2y = 10 3R
4x + ky = 2 ® % Yd—qux P! fdg
(a, 4) W ufoBfed &% §| k &1 94
R 87

\/m{ (b) 4

(c) -3 (d) 3 H



In the given figure, ABCD is a
rectangle and P is a point on DC
such that BC = 24 cm, DP = 10 cm,
and CD = 15 cm. If AP produced
intersects BC produced at Q, then
find the length of AQ.

& ¥ Hfa #, ABCD & 34d # 3R
P DC R U& fdg 39 R 8 f& BC =
24 {9, DP = 10 ¥4l 3R CD = 15
9 21 Af AP @ @iem Sar 8 o
BC &I fdg Q ufda=sfad #=ar 8, o AQ
B IR FId DI |

(a) 26 cm (by 39 cm
(c) 35 cm (d) 24 cm



The length of the shadow of a
vertical tower on level ground
increases by 10 m when the
altitude of the sun changes from
45° to 30°. The height of the tower
is:

| THdd O IR TP FEdER Sfar
BRI @I @alg 10 ek 9§ il 8, o9
W  S=19 BT DI 45° | 30° H

) yRafdd 8 STar 8| SR 3 S & —

Jz- l (a) 10 3+1)m M




In an election between three
candidates, Arjun, Bhaskar and
saral contested for a post. Arjun
got 50% votes more than Saral,
and Saral got 2% votes less than
Bhaskar. The difference between
the votes of Bhaskar and Saral is
1296. What is the half of the
difference between the votes of
Arjun and Bhaskar?

9 SHiaRl & 99 s gId #,
3TGIH, PR 3R WA 7 & Ug 3 forg
gard dST| 9T B WA ¥ 50%
e dic fel, 3R R & 9N A
2% P9 dic | 9RHY R W D
dIct @ dr9 T 3iaY 1296 B | IS AR
HRGY @ ] @ dr1d P Jax fa-r 87

(a) 3888 (b) 13988
(c) 7766 \/w 15228 @



Two friends P and Q simultenously
start running from same point
around a circular track. They run
in the same direction. P runs at 6
m/sec and Q runs at b m/sec. If
they cross each other at exactly
two points on the circular track
and b is a natural number less than
6, then how many values can b
take?



If x+l=7 , then the value of

qﬁx+l=7,ﬁ}f x°+i635T‘Tng"-

X X

(a) 113682 Y Jm/loasgz_
(c) 103882 (d) 103862

®



If AXYZ = ALMR,thenm +x +p =

gf§ AXYZ =~ ALMR, Wi m + x + p =

(a) 7 (b) 6

o (d) 13



If a =17, b = 13, then find the
value of the expression (a3 - b3 -
3azb + 3ab?).

e a = 17, b = 13, A &P
(a® - b3 — 3a2b + 3ab2) BT A T &7

(a) -64 (b) -27000

(c) 27000 ‘)9) 64

®



A, B and C can do a work
separately in 18, 36 and 54 days,
respectively. They started the
work together, but B and C left 5
days and 10 days, respectively,
before the completion of the work.
In how many days was the work
finished?

A, B 3R C &l &1 &1 AAT—AT
P 18, 36 AR 54 faAr # 1 AW
9hd &l SoiF S 9 B URA
fdar, <ifés B iR ¢ 7 &d g1 8 &
A 5 @9 ok 10 9 U=a ©re
fear| & oo fea 9 1 genr?

(a) 12 days /) 13 days

(c) 15 days (d) 14 days



What is the reflection of the point
(5, =3) in the line y = 37

(5) ) ¥y -3 wRg (5 -3) @1 AR
T 87

Y=% ) (5,-6) 1) (5, 3)
‘pp5,9) 7 44) (5,9

‘ @) 3) @



Find
the sum of 3 + 32 + 33 +
T

38,
3+ 32+ 3 + ... +
3 (?;& ) | .. + 38 BT T oA
| (a) 6561 (b) 6560
5 . /(5) 9840 (d) 3280
23X 36X 8 2L

A



1

If |x-— =Jg, and x > 1, what is
X

‘ W‘*‘Wﬂf”\v %>
QL” ~ « the value of
" »n

X %7\\9‘ afe

|
| P
X =13

Exfo



In a constituency, 90% of the total
number of people on the electoral
roll cast their votes during an
election, 15% of the votes cast
were declared invalid. Jeeta
secured 60% of the valid votes. If
Jeeta secured 91,800 valid votes,
what was the total number of
people on the electoral roll?

s fafem &3 # gam & SRM
Hacrar gd d WA A A H 9
90% ¥« AT STell, S MY 15% I
aray ;f¥d &) faw 1| Sfar &1 60%
Y dre fer| afe siar &1 91,800 dqy
dic e, o wagEr g W HAa arn
& g7 a1 A7

(a) 2,16,000 (b) 2,25,000
(c) 1,80,000 ynz,oo,ooo



A person took a loan at 5% per
annum simple interest during the
first year and with an increase of
0.5% simple interest every year
from the second year onwards.
After 4 years, he paid Rs. 4,600 as
a total interest to settle the loan
completely. How much was the
loan?

% ARh - U8l 9§ & IRM 5% ¥fa
99 RO &S] 9% 70T forar 8k g
99 ¥ & I 0.5% WERU &6l DI
gfg @& @1 o1 foar| 4 aN 3 901G,
m46006waﬁ®mgﬁﬁ
o o0 g U9 & ©U F fha vwd

o fomm or?

4= Rs. 20,000 (c) Rs. 18,000

(b) Rs. 19,000 (d) Rs. 21,000



V2+1 and q =

J2 -1 J2 +1

2
find the value of 2+,
q p

If p =

_N2+1 L N2-1
Qﬁp-ﬁ—ladq \/§+1’Eﬁ

p p

P +4 #9959 |
q P

(a) 200 (b) 196 (fi:>
198 (d) 188
vl . “@7
n=%
i ?0
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Sudhin cycled at 8.5 km/h for 4
hours, then took an auto and
travelled at 20 km/h for 1.5 hours,
and then walked at 4 km/h for y
hours. If Sudhin’s overall average
speed for the entire journey was 10
km/h, what is the value of y?

geq 7 4 "¢ % 8.5 f&H /der o

a9 isfed g, B e sifer
forar 3R 1.5 ©e d® 20 & /dHer oY
T | I B, R R 4 6 d@ 4
feft /der & wfd | Tar| IR @
I @ forg g a ga sia wfa
10 &t /der off, O y &1 |19 T 87

(a) 2 (b) 1.25

_Jor1.s © (d) 1.75



If anx 2. , then the value
sinx +cosx S

1+ cot’x
of

is:

1-cot’x

uﬁ sinx - cosx _ 2 asr 1+ cot’x
)

sinx +cosx 5 1- cot’x
BT HE &
(a) 2.25 1.45 ,
BERE @525 FH43-
——
7o



31.07%
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Study the given pie-chart and
answer the question tht follows.

The pie-chart displays the
percentage of fruits sold (in kg) by
a fruit seller in one month.

fRe U uEd—=ard &1 YT H 3R
fr=fefRaa ueq &1 SR

Us—dc Ud Hel H U B fasdl
gRT 99 Y Bal & ufava (fFar #)
wef3fa svar 2|

If the total fruits sold by a fruit
seller in one month was 50,000 kg,
find the approximate difference of
the quantity (in kg) of
pomegranates and that of berries.

IS U B famar gRT U 989 & 99

T $o B 50,000 fFamwm™ o, o
IR 3R ST B AT H) BT

M,4so (b) 13,535

(c) 21,408  (d) 12.465



On day one, with speed v, R covers
a distance x, in t time. On the next

day, he covers a distance 2.5x in
0.75t time. What is his speed of

next day?

Ugel &, fd v & W1, R 990 §
x T Il 8| AT f&F, 98 0.75¢
W ¥ 2.5x QU T9 AT 8| ST

foq Swa wfq a7 27
(@)3.5v g 10/3v @
(c) 4.5v (d) 5/3v



Sl

A man took a loan of Rs. 32,400 at
a certain rate of simple interest
per annum. The rate of interest is
one-fourth of the number of years
for which the loan is taken. If he
paid Rs. 11,664 as interest at the
end of the loan period, the rate of

interest was:

TS 3Medl A ufd 9f IEReT 1S 6
¥ 9 32,400 J9Y T K fordT| TP
fAfRR=ea v w® fSaw 9ot @ forgw =&
forar SiraT @ S9! Te—alrs Bl 2
Ife S99 11,664 3. KU1 (AW D 30T
4 e $ BY A YA fey, O |are
@I X [T A7

l,m) 3% (b) 8%

(c) S% (d) 12%



RL-S) —Hvo

®

R lends some money to S on which
S pays Rs. 17,000 more to R. S

lends the same money to T, on
which T pays 8.5% more to S.
What should be the minimum
amount (in Rs) that S must borrow
so that he does not incur any loss
in the process?

R,SP ZB N SUR Qa2 R W S
17,000 T HT HIAHE Hal 21 S A
ST & U1 T 9 SuR fRn, e w®
T 9 S B 8.5% 3P Y fHar| s
® aq fean AR (Pud H) SR
ol TRy aife SS9 s ufhar § a8

IHE 7 BI?

\_4q] 2,00,000 (b) 2,25,000

(c) 1,80,000 (d) 1,70,000



What is the probability that a
number selected randomly from 1

to 500 is a multiple of 3 or 7?

S-"-’-::IGG gD T WRdar 8 f6 1 ¥ 500 TF
E IgfeBd W A gl Tz AET 3 AT 7
Svo BT 0TS 17
= = FI 428  (b) 0.474
(c)0.512  (d) 0.576
S =23



cosec2910° + sec4260° + tan2565°
+ cotl755° =7

(a) 3 (b) 1

ey (d) O
Cre ((369%8+30)= 2

L (36“‘2‘ 6°> = 2
L‘W/\( “\§o ) = l @
(o4 th&‘-‘ﬁj =\

——\

g



1-sin30
1+sin30

Find the value of \/

® A9 1T HITIT |

\/1 - sin36
1+sin30

\_—ta] sec36 - tan30

o8
L
@ (b) (sec36 - tan306)°

(c) (sec36 - tan306)”
(d) sec30 + tan30



el T

14"
R4y =33

AB = 28 cm and CD = 22 cm are
two parallel chords on the same
side of the centre of a circle. The
distance between them is 4 cm.
The radius of the circle is
. (Consider up to two
decimals)

AB = 28 9l 3R CD = 22 99 & o
$av‘s.'$w'€rma‘r\qw

TP R fIaR &)
(a) 15.20 cm (b) 14.82 cm @

\}HS.SZ cm (d) 13.20 cm

96t 53 24



An inlet pipe can fill an empty

tank in 4% hours while an outlet

pipe drains a completely filled

tank in 7% hours. The tank is

initially empty, and the two pipes
are alternately opened for an hour
each, till the tank is completely
filled, starting with the inlet pipe.
In how many hours will the tank be
completely filled?

U®h Ao YISy Udh Qo] ed Dl



S:1 and S; are two stations which
are 195 km apart. A train starts
from S: at 4:00 pm and moves
towards Sz at the speed of 65
km/h. Another train starts from S2
at 5:00 pm and moves towards S
at the speed of 35 km/h. At what
time will the two trains meet?

S1 3R S; q YA § Sl 195 fft R
8] UH ¢ UM 4:00 9 S1 W TS
Bl 8 3R 65 & /ser o 1fa ¥ S»
@ 3R TGl B THA o9 UM 5:00
¥ S; 9 A™ gl & 3R 35
fd /er & fd /4 S1 B AR Tl
g1 aFl 2+ fra 9w fAeif?
(a) 6:06 p.m. (b) 6:30 p.m.
(c) 6:15 p.m. ()f 6:18 p.m.
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If the inner radius of a
hemispherical bowl is 5 cm and its
thickness is 0.25 cm, then find the
volume of the material required in

making the bowl. (use n = 22/7)
(Rounded up to two places of
decimals).

I U IJFMATBR FeR B Had
fBsar 5 99 8 3R sH®! Hiels 0.25
I B, @ PR B M H JEAWD
AT BT AT S P | (STIRT =
= 22/7) @@¥ead & A RFE TB
qoTifesa) | 2%
(a) 34 cm?3

(b)44cm3x

(c) 45.34 cms)( b
\_[d}-41.28 cm?



If720 + 8 +915+15-m+32 x5
= 1104 + 16 x 111 + 37, then the

value of m is:
qfe 720+ 8 +915+15-m + 32 x 5

| I-m =61X3 = 1104 + 16 x 111 + 37, A m T
. ™ &
m= " 04 (b) 518
“/(‘::2:)7 (d) 311

®
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In January 2022, Kriti paid an
EMI, which was 22% of her
monthly salary. She spent the
remaining salary on shopping of
groceries and clothes in the ratio
7 : 5. She spent Rs. 18,200 on
shopping of clothes. If, in February
2022, her salary increased by 16%,
then what was her salary (in Rs.) in
February?

T 2022 # HfT 7 EMI &7 Y0
far, oIt S5 & w1f1® 39 &1 22% T}
SHY AY 949 7 : 5 AU H fHE F
THHE 3R HUS] A @AER W GY
P S FUsi # WA W
18,200 94 WY fdy| I} HREA
2022 ¥ ISP 999 H 16% I (g T3,

@ BYEY A SHST da9 (P9 W) @
oqr?

(a) 66,350  (b) 68,520

(c) 70,250 (164,960



AN

The length of the common chord
of two circles of radii 15 cm and

13 cm, whose centres are 14 cm
apart, is:

15 ¥4 3R 13 |4 Frear a3 9,
e @5 @ 99 & 8 14 I &,
I SIS SitaT &1 darg T 87

(a) 14 cm (b) 12 cm
(c) 1S5 cm (dj 24 cm
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0 |0
A B3
33— 200 [3$=10 %
00 = 00

3

In a 200-m linear race, if A gives B
a start of 25 m, then A wins the

race by 10 seconds. Alternatively,
if A gives B a start of 45 m, the
race ends in a dead heat. How long
does A take to run 200m?

200 #HieX &I Ra® gl #, Al A, B
®I 25 WIS B FOIATT <l 8, aF A 10
APS A Sl oiid ST 2| Ibfeusd ©Y
¥, IfX A, B @ 45 HicX B FoIA
T 8, O SIS S BIc A 9HTS Bl © |
A B 200 HEZ dreq d fhaar 999

(a) 78 seconds

(b) 77 seconds :(W\.\)

(c) 78.5 seconds

ﬁ) 77.5 seconds 2{ ‘I(WM



Simplify - + - + - ;

2+2p 2+2q 2+2r

where p-= - , if q= Y _ and
y+z z+x

Zz
P =

X+y

Wﬁ1+l+l,ﬁlﬁ
2+2p 2+2q 2+2r

p=8’mq=y <1

y+z z+Xx

r=— &
X Y
3 3 L/‘f]_ b)x+y+2z

(c) 2 (d) 1/2




r Identify the two unknown
% ( frequencies in the following table if
I the mean of the values is 21.5?

\ / for IRt ¥ <7 aEa IRERAR] @)
— Jgam-Jioe gfe JFF &1 919 21.5

Frequency

F1
g
12

F2 Ji/)o and 15
3 (b) 10 and 20
(c) S and 10

(d) 10 and 15
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In an examination a candidate had
to sit for three papers A, B and C.
The candidate secured 75% marks
in Paper A, 80% marks in Paper B,
and 60% marks in Paper C. If the
weightage assigned to Papers A, B
and C were 40%, 50% and 10%,
respectively, then find the
weighted percentage of marks
obtained by the candidate, when
all the three papers were taken
together.

Uh T ¥ U SHICIR & o9 W
A, B 3R Cc & day & oY)
SRIGaR 7 YR A ¥ 75% 3i$h, YR B
H 80% 3@ 3R TR C # 60% 3I®
e fde| Ife TR A, B 3R € &1 fRu
T qSH HAY: 40%, 50% 3R 10%
), I SHIGAR §RT U 3JPi BT ARG

fore g o) @
(a) 77% (b) 74%

(c) 72% ) 76%



A person marks his goods x%
above the cost price and allows a
discount of 12% on the marked
price. If his profit is 10%, then the
difference between x% and the
profit percentage is:

TS fth 3T WHE W ANd Jod 9
x%alﬂaialﬁfﬁm'gaﬁ'\'aﬁﬁﬁﬂ
TR 12% @ B <l o | IS SHPHT o™
10% &, @ x% AR & e @ &=

& 3N B

V(arls/% (b) 18%

(c) 13% (d) 10%
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A shopkeeper bought certain
number of apples for Rs. 3,600. He
sold one-fifth of them at a loss of
10%, one-fourth of the remaining
apples at a loss of 5%, and two-
third of the rest at a profit of 15%.
At what price (in Rs.) should he
sell The remaining apples to earn a
profit of 27% overall?

Uh gPMER 1 3,600 v ¥ fAf¥=a
&1 H§ 99 @I | S99 SHBI gigdi
fewar 10% & BfF W) 99 Th—arrs
U9 5% @I g W IR Ay g-fasrE

A9 15% P o W 89 fear| oo
ﬁamn%mmm#a}ﬁw

Y |9 f2 aﬁ’m?_qw(vqﬁﬁ)m

(a) 548
(c) 1,845 (d) 1,864




2‘ \,J‘\DK' Out of the total toffees, 1/10 are

wasted, 35% of the rest are given

to S and 1/8 of the total are given
to N. If the toffees with N are 10
more than the wasted toffees, then
how many toffees were given to S?

ol Sl § ¥ 1/10 &g & ol g,
qIH BT 35%, S B AT AT & IR
G 31 1/8, N &I far mar 21 af N
gTell P! g4I P! ¥ 10 RS &, o
frat <for s o & T

126 (b) 150
(c) 110 d) 135
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Tarun owned a plot of land having
an area that was 10% more than
the area of the plot owned by
Basab, while the area of the plot of
land owned by Nakul was 40%
more than the area of the plot
owned by Tarun. If the area of the
plot owned by Nakul was 2695
square feet, what was the area (in
square feet) of the plot owned by
Basab?

T D U YA BT TH HES o

mmma%wﬁamﬁ
&GS & &a%d 9 10% IS o,
Wafd dhd B WAE dldl [E&S Bl
gAhe TOU B WG I HES D
gAh  40% AS A7| I IHa D
WG a1l &S & &F6d 2695 T
B o, N 999 B Wi 91l [&S

&1 &% (a7 B H) T oa1?
(a) 1750 / (b) 1740 @

(c) 1780 (d) 1800



Which of the following sets of
lengths (in cm) will give three sides
of an obtuse-angled triagle?

fr=fafRaa & @ derg &1 &9 491 A<
(@ #) e AP BT gt Bs B
o HOIIg <?

\\,Jarfgj62,64' (:;;06”7

(b) 17, 64, 66
(c) 16, 63, 65
(d) 18, 65, 67 m
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2,0
—3

S6 9
De_ S
= 2k, Tt
6—
(a) 15 km; 25 km/h
(b) 14.4 km; 24 km/h
(c) 10 km; 25 km/h
A4"12 km; 24 km/h

A thief steals an item and escapes,
running at 20 km/h. A pliceman
arrives at the spot of the crime
after 6 minutes and immediately
starts chasing the thief. 24
minutes after the policeman
started to chase the thief, there is
still a gap of 400 m between the
two. At what distance from the
spot of crime would the policeman
catch up with the thief, and what
is the speed at which the
policeman ran?

U6 IR Ub a% IO & AR 20
f&ft /der @ If | T ST 81 S

gferaadt 6 fific 91 TR wWid W
Ugadl 8 R A AR BT WST HAT
Ys N ol Bl 24 e 9] w®
gfera®dl AR ST WBT S o, a9 A
q9 P 49 400 HeX & AN B
IR WA ¥ fha o W gferasHt
gﬁvaﬁqﬁm_ 3R gferaedt fea wfa
HITT?



R’s weighing machine shows 400
gm when the actual weight is 350
gm. The cost price of almonds is
Rs. 880 per kg and packets of 200
gm are made using the faulty
machine. What should be the

selling price (in Rs) of each packet
to get a profit of 25%7?

R @ 9o 999 400 7 fearh 2
Wef$ arsfadd 9o 350 ™ 2| 9IS
®T B I 880 %. ufa fden iR
XY "7¥9 ¥ 200 UYH  Yde §91¢
O 8| 25% &1 o AT & & folg
TS Ywe &1 fapg o (B0l 4) @
BT Af8y?

(a) 197.50  (b) 175.50

(c) 182.50 J;n/ 192.50



